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= = U HVE E7 W HVE Il = = AV E = E AV = =
&5 X 4 .z,na; ‘Finﬁb(z)wﬂﬁﬁﬁ jj(gr)\lj/kn%é X 4 ‘Finﬁﬂfé%z(ion;ki 'Z]né){ jj(g')\l:/knié R 4 ,(Er,né; J:.lﬁﬁfJ(:)U)J:hEl jj(g')\licnié X 4 J:.lﬁﬁfJ(:)o)ktlsl .z,n? jn(gigcnié
’ 100kN/mM%#BZ % 1.00/0.00 ~ 037 105.51|3mZ#BRS| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.75 ~ 11.86 105.51[3m%#BZ 5 -~ - - -
Zh st 1.00{037 ~ 8.16 100.00f Zhlist [0.00 ~ 8.16] 2.09 11.18 ZTh LS 1.00] 500 ~ 10.75 100.00f Zhlust | 500 ~ 11.86] 2.09 11.18
5 100kN/mM%#BZ % 1.00/ 000 ~ 041 106.09[3mZ#BZDH| - ~ - - -| 100kN/mM%E#B 2% 1.00| 1053 ~ 11.66 106.09[3m%#BZ 5% -~ - - -
Zh st 1.00/ 041 ~ 820 100.00f Zhlist [0.00 ~ 8.20| 2.18 11.69 ZTh s 1.00] 500 ~ 1053 100.00] Zhlust | 500 ~ 1166 2.18 11.69
3 100kN/mM%#BZ % 1.00/0.00 ~ 0.39 105.75[3mZz#BRS| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.65 ~ 11.70 105.75[3m%#B %% -~ - - -
Zh st 1.00/0.39 ~ 817 100.00f Zhlist (000 ~ 817 227 12.13 ZTh LS 1.00] 500 ~ 10.65 100.00f Zh st | 500 ~ 11.70] 2.27 12.13
4 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
Zh st 1.00/ 000 ~ 1.95 27.24| Thils |0.00 ~ 1.95| 297 15.91 ZTh s 1.00] 500 ~ 950 27.24| Thils | 500 ~ 950 2.97 15.91
5 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst -l -~ - -| LSt -~ - - - ZTh LS - -~ - -| Zhist -~ - - -
6 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst -l -~ - -| Fh st -~ - - - ZTh LS - -~ - -| Zhist -~ - - -
7 100kN/mM%#BZ % -l -~ - -|3m%E#E2%|000 ~ 008 3.14 16.83| 100kN/m%#z% - -~ - -|3m%#8x2%| 500 ~ 852| 3.14 16.83
Zh st 1.00/ 000 ~ 1.23 19.73] Zh st 1008 ~ 123 3.00 16.05 Zh LS 1.00] 500 ~ 852 19.73] #h st | 500 ~ 500 3.00 16.05
8 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#Bx 5 -~ - - -
Zh st -l -~ - -| st -~ - - - Zh LS - -~ - -| ZhList -~ - - -
9 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st -l -~ - -| st -~ - - - ZTh LS - -~ - -| ZhList -~ - - -
10 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st -l -~ - -| FhLst -~ - - - ZTh LS - -~ - -| Zhiist -~ - - -
11 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLst -l -~ - -| Fh st -~ - - - ZTh LS - -~ - -| EhList -~ - - -
12 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst 1.00/0.00 ~ 201 2781 Zhils |0.00 ~ 2.01| 2.78 14.86 Zh LS 1.00] 500 ~ 6.86 2781 Thils | 500 ~ 6.86] 2.78 14.86
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt -l -~ - -| LISt -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
14 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st -l -~ - -| LIS -~ - - - ZTh LS - -~ - -| ZhList -~ - - -
15 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZhLlst -l -~ - -| Fh s -~ - - - Zh LS - -~ - - Zhist -~ - -
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= = U HVE E7 W HVE Il = = AV E = E AV = =
&5 X 4 .z,na; ‘Fiﬁﬁﬁ(z)wﬂﬁﬁﬁ jj(:r)\lj/knié X 4 ‘Finﬁﬂfé%z(ion;ki 'Z]né){ jj(g')\l:/knié R 4 ,(Er,né; J:JﬁﬁfJ(:)U)J:ISIEI jj(g')\licnié X 4 J:.lﬁﬁfJ(:)o)J:tlsl .z,n? jj(gilzcnié
16 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st -l -~ - -| =St -~ - - - ZTh LS - -~ - -| Zhst -~ - - -
17 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - —-[3mZEEZS -~ - - -
ZTh st -l -~ - -| st -~ - - - ZTh s - -~ - -| Zhst -~ - - -
18 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
ZTh st -l -~ - -| st -~ - - - ZTh LS - -~ - -| Zhist -~ - - -
19 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/ 000 ~ 7.63 97.73| ThLls |0.00 ~ 7.63] 250 13.40 ZTh s 1.00] 500 ~ 1184 97.73| #hLls | 500 ~ 11.84| 250 13.40
2 100kN/m%#B% % 1.00/0.00 ~ 093 113.96[3mZiBRD| - ~ - - -] 100kN/mM%E#B 2% 1.00| 11.08 ~ 13.90 113.96[3m%#BZ 5 -~ - - -
ZThLst 1.00/ 093 ~ 872 100.00f Zhlist (000 ~ 8.72| 236 12.64 ZTh LS 1.00] 500 ~ 11.08 100.00f Zh st | 500 ~ 1390 2.36 12.64
91 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 6.78 85.74| Thiuls |0.00 ~ 6.78] 2.82 15.11 ZTh LS 1.00] 500 ~ 13.92 85.74| Thiuls | 500 ~ 13.92| 2.82 15.11
99 100kN/mM%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
ZTh st 1.00/ 000 ~ 6.96 88.29| ThLls |0.00 ~ 6.96] 2.79 14.92 Zh LS 1.00] 500 ~ 13.90 88.29] ¥hLlst | 500 ~ 13.90| 2.79 14.92
93 100kN/m%#BZ % 1.00/0.00 ~ 040 105.89|3mZi#BRDH| - ~ - - -] 100kN/mM%E#B 2% 1.00| 12.62 ~ 13.92 105.89[3m%#BZ 5 -~ - - -
ZTh st 1.00/ 040 ~ 8.18 100.00f Zhlist 000 ~ 8.18] 253 13.55 Zh LS 1.00] 500 ~ 1262 100.00] Zh st | 500 ~ 1392 253 13.55
04 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLlst 1.00/ 000 ~ 7.69 98.57| ThLls |0.00 ~ 7.69] 2.65 14.16 ZTh LS 1.00] 500 ~ 13.92 98.57| ThLls | 500 ~ 13.92| 2.65 14.16
25 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZTh st 1.00/ 000 ~ 748 95.61| ZhLls |0.00 ~ 7.48| 261 13.98 ZTh LS 1.00] 500 ~ 1274 95.61| ZhbLlst | 500 ~ 12.74] 2.61 13.98
26 100kN/m#%#BZ % 1.00/0.00 ~ 0.66 109.89|3mZi#BADH| - ~ - - -] 100kN/mM%#B 2% 1.00| 10.68 ~ 12.71 109.89[3m%#BZ 5 -~ - - -
ZThLst 1.00/ 066 ~ 845 100.00f Zhlist [0.00 ~ 845 2.11 11.27 ZTh LS 1.00] 500 ~ 10.68 100.00] Zh st | 500 ~ 1271 2.11 11.27
97 100kN/m%#BZ % 1.00/0.00 ~ 057 108.51|3mZziBASH| - ~ - - -| 100kN/mM%#B 2% 1.00| 1053 ~ 12.16 108.51|3m%#BZ 5 -~ - - -
ZThLlst 1.00|/ 057 ~ 8.36 100.00f Zhlist [0.00 ~ 836 217 11.62 Zh LS 1.00] 500 ~ 1053 100.00] Zh st | 500 ~ 1216 217 11.62
28 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt 1.00/ 000 ~ 744 94.96| ThbLls |0.00 ~ 7.44| 198 10.57 Zh LS 1.00] 500 ~ 10.70 94.96| ZhLlst | 500 ~ 10.70| 1.98 10.57
29 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st 1.00/ 000 ~ 7.27 92.64| ThLls |0.00 ~ 7.27| 194 10.40 ZTh LS 1.00] 500 ~ 10.63 92.64| ThLls | 500 ~ 10.63| 1.94 10.40
a0 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - -
Zzh s 1.00{0.00 ~ 7.51 95.95| Zn L4 | 000 ~ 751 1.99 10.65 Lt 1.00f 500 ~ 10.73 95.95| Zn L4t | 500 ~ 10.73] 1.99 10.65
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. SERMO FinlZBET 51 SMERH A
Ei;]fg TREOBHOEILADKRES TREDHEBSSLADKRES TREOBHOEILADKRES TREDHBBSSLHADOKRES
=] = U HVE E7 W HVE Il = = AV E = E AV = =5
&5 R 4 .z,na; -Flﬁﬁﬁ(:)o)ftﬁﬁﬁ jj(gr)\lj/knié X 4 ‘Finﬁﬁféd‘ﬁzg;ki 'Zlné){ jj(gr)\lj/knié X 4 ,z,na; J:.lﬁﬁfJ(:)U)J:tlﬁl jj(g')\licnié X 4 J:.lﬁﬁfJ(:)o)J:tlsl 'Zln%{ jj(gifn%é
31 100kN/m%#8 2% 1.00/0.00 ~ 0.20 102.93|3m%E#ZB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.73 ~ 11.26 102.93[3m%#BZ 5 -~ - - -
ZTh st 1.00/020 ~ 798 100.00| #hLlst [000 ~ 798| 229 12.26 ZTh LS 1.00] 500 ~ 10.73 100.00] Zhlist | 500 ~ 11.26] 2.29 12.26
39 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEBZD -~ - - -
ZTh st 1.00/ 000 ~ 7.78 99.90| #hbList 000 ~ 7.78| 214 11.48 ZTh s 1.00] 500 ~ 1055 99.90| #hbList | 500 ~ 1055| 2.14 11.48
33 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
ZTh st 1.00/ 000 ~ 6.87 86.90| #hList | 000 ~ 6.87| 258 13.78 ZTh LS 1.00] 500 ~ 1054 86.90] #h L4t | 500 ~ 1054| 258 13.78
34 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/0.00 ~ 503 62.74] #h iyt | 000 ~ 503] 228 12.18 ZTh s 1.00] 500 ~ 858 62.74] #h L4t | 500 ~ 858| 228 12.18
100kN/m%#B% % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZThLst ~ ZNLs ~ ZTh LS ~ ZH LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZThLst ~ ZHLS ~ ZTh LS ~ ZNLUS ~
100kN/mM%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZHLS ~ ZTh LS ~ ZN LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZHN LS ~
100kN/m#%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLst ~ ZNLS ~ ZTh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ zh st ~ Zh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ zh st ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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H
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